88 1% = oo . 4t ma=n P
Q S PRIV #t P~
B/ KTAv%,/SUS @23 Oy 4y dan=nTP ¥
#E2021.3 [FiEff 2021438 ~] wree BRAVTvI KA
m B axy Kb F7AyF 3y K| SUS %Y AL b
L ~F#: (mm) 1000L 1500L 2000L 3000L 1000L 2000L 1000L 2000L
3/8 580 1,260 1,000 3,680 1,750 5,710 1,980 3,950
1/y 1,230 2,500 2,450 6,610 4,550 9,700 3,880 7,750
5/8 3,780 8,300 6,380 19,290
(BT 2 [/ f1)
804% W Hay kg b 806% 8 SUSTY b 4 b
ik (F- £ b) ik (F-&Fh)
% E2019.8 3/5X 40 120 % 5E2019.8 3/4X 40 1,130
1/9X40 160 1/5X 40 1,990
3/§X50"w7% 290 (AT 2 /1)
1/9X50"y7% 400
WL /A1)
880 o A -

* | AL Ry b , pd wazn P I ¥
HE2019.8 (524 2019%85 ~] M= aR1 Ty oBRat
o | MI2 | M16 | M20 | M22 FERM BT 3

7 5 v D% | JISSKHIAE#E AL b [JISI0KHA#E KL b |[JIS20K FHAf#% K L +
70 3,770 10A M10X60 M12X70 M12X70
30 4750 15A M10X65 M12X70 M12X70
’ 20A M10X65 M12X75 M12X75
85 4,750 25A M10X65 M16X80 M16X80
32A M12X70 M16X85 M16X85
90 4,940 40A M12X70 M16X85 M16X85
50A MI12X75 M16X85 M16X85
100 9,800 65A MI12X75 M16X90 M16X90
TEBFERIVNI-T 1 TR TTREBT v Y4 —Fy My METT 80A M16X80 M16X90 M20X100
— 100A M16X85 M16X90 M20X110
@7y —| 250 260 330 360 125A M16X85 M20X 105 M22X 125
e 150A M16X90 M20X105 M22X125
2y -7] 480 730 989 1 1,250 200A M20X100 M20X105 M22X125
(HEZ - 1/ {) 250A M20X105 M22 X120 M24 X145
300A M20X110 M22X120 M24X 145
<FBSHEARRICEY ., RV A ZXZORIVELBZBENFHYETDT,
{EARRNICDLTTEOHEREBBEVLET,
HRATHENAOTESZELTVET,
ZEMHEER BT (mm)
JIS 5K JIS 10K
7229 [ oms e
i ISIBEMFIME | MR | 1S &8 | T9010-A [75 Umsnhryh1E #E& | & &E [T 9010-A
& 2= | TyTr— | T - | B | 2U=T | Tya— | Tre—| 88y
W M 1@ 2 & 218 | AzFybfE w M 1@ 2 & 218 | HAgyhfE
10A | %X50 | M10X50 | 10X11X19 | 13X24X3 | M10 | 18X 45 | %X 60 | 12X 60 | 13X14X23 | 15X28X3 | M12 | 18X 53
15A | %X50 | M10X50 | 10X11X19 | 13X24X3 | M10 | 22X 50 | %X 60 | 12X 60 | 13X14X23 | 15X28X3 | M12 | 22X 58
20A | %X60 | M10X60 | 10X11X19 | 13X24X3 | M10 | 28X 55 | %X 65 | 12X 65 | 13X14X23 | 15X28X3 | M12 | 28X 63
25A | %X60 | M10X60 | 10X11X19 | 13X24X3 | M10 | 35X 65 | %X 65 | 16X 65 | 16X18X29 | 19X34X3 | M16 | 35X 74
32A | 14X60 | MI2X60 | 13X14X23 | 15X28X3 | M12 | 43X 78 | %X 70 | 16X 70 | 16X18X29 | 19X34X3 | M16 | 43X 84
40A | 4X60 | M12X60 | 13X14X23 | 15X28X3 | M12 | 49X 83 | %X 70 | 16X 70 | 16X18X29 | 19X34X3 | M16 | 49X 89
50A | ';X65 | M12X65 | 13X14X23 | 15X28X3 | M12 | 61X 93 | %X 70 | 16X 70 | 16X18X29 | 19X34X3 | M16 | 61X104
65A | '2X65 | MI12X65 | 13X14X23 | 15X28X3 | M12 | 77X118 | %X 75 | 16X 75 | 16X18X29 | 19X34X3 | M16 | 77X124
80A | %X65 | MI6X65 | 16X18X20 | 19X34X3 | M16 | 90X129 | %X 75 | 16X 75 | 16X18X29 | 19X34X3 | M16 | 90X134
100A | %X70 | MI6X70 | 16X18X29 | 19X34X3 | M16 | 115X149 | %X 75 | 16X 75 | 16X18X29 | 19X34X3 | M16 | 115X159
125A | %X70 | MI6X70 | 16X18X29 | 19X34X3 | M16 | 141X184 | %X 80 | 20X 80 | 20X22X33 | 23X39X3 | M20 | 141X190
150A | 5%X75 | MI6X75 | 16X18X29 | 19X34X3 | M16 | 167X214 | %X 90 | 20X 90 | 20X22X33 | 23X39X3 | M20 | 167X220
200A | %X90 | M20X90 | 20X22X33 | 23X39X3 | M20 | 218X260 | %X 90 | 20X 90 | 20X22X33 | 23X39X3 | M20 | 218X270
250A | %X90 | M20X90 | 20X22X33 | 23X30X3 | M20 | 270X325 | %X100 | 22X100 | 22X24X40 | 25X44X3 | M22 | 270X333
300A | %X90 | M20X90 | 20X22X33 | 23X39X3 | M20 | 321X370 | %X100 | 22X100 | 22X24X40 | 25X44X3 | M22 | 321X378

<EE> OFERKRICEY

MRETAXH2OTSVHERELE LA,
g2 ) — Tk ABXHEXRE
g7 v ¥ v —<iE  ABEXSMEXE S
Mgy v a ARy bHE T RAEXSME

KV A ZOREINVREZHBEN BN ETOTAERFNICLTTEOERESBENLET,

255



